L.
ec 29 HbMoJen-QOM wnd order ODE s

PL)&SI(J §7$+€W) . (S‘Frf"la. ma S S/S‘f‘eh)

o~ ™
W
0‘ >
Mowton ¢ [aw












































































































































































































































































































































































































































































































::SFM?I — C &&) d oace, % Iqq/

Firchon = = b gt
m g(ﬂ = -bgm—c 4t

.- _ —
= \m )+ byad+c ¥it) <O

= =
Hom . and ordey ODE “Fo





























































































































































































































































































































































































































































































Totak condition
























































































































































































































































































































































































































der
d or
Se (on
oJaneows

hom

- A

Vel

° “)
( | en
= ) MLI\D” )
l_ Ozﬁ@m«/
()Yc/ 1 had rg

or M
(%(t))f +he ‘F
eq.

3o
by +tCy

1D +

a ‘j(

Wwen
are j‘
Wwe
i


































































































































































































































































































































































































































































i 8("):50
§@=y;
s s called  an niticd veee P?Dé/fh [Zup)

SWLI’mLejﬁ
© Find 3@'?/&«0 Sof) ‘r’or all i) elues

@ Find g{)w](z Sof). Sml'ZﬁfJ(hé mitid (ong









































































































































































































































































































































































































































































































Conrwd' +o L /4/&

V = COO(IR) =1 ' R>R s
_|n~(:}ni‘fe/& d;ﬂe"’@ﬁaéle}

T V=V

§F— a g—réét-rc

T = ay+bytc









































































































































































































































































































































































































































































































































































































































































































—btAb~4ac
2

(=
0 b-4ac>0 : 2 dsknct yed voote
@ (01 ~4ac =0 . L veed vost af vnw{hf/rmvj >

@ b 4a <o Q2 odnthct Complex Yoot

¢ w’é“\jcde 4> <ach M@V)
































































































































































































































































































































































































































































































Case 1 ¢x. 5"-—33'-41—_0

E:

wx. €. r-3r-4=o

V = 3 9+ (4

2

rl: 4’) i’;,:—/.
Mabe  am 2du cated C‘Juess

4= e® | g’








































































































































































































































































































































































/ //

u'= 2% 4= 1ge®
gy ag - (1) e
3;’ —%5;‘437,: 6-%° O =p

8\ (t) y ‘j) ('t) Q;ﬂ : ‘lﬂooQ.Z). n \/

N S ———

. o
Corl G Yt Goit)= ¢ et rae <o

T S —



















































































































































































































































































































































































































































































































5T _

=) e =-Co
C BY 5
nt o @W91‘M+
Con s Tawt-

uhless (= o D C.=o
N (T) = Spar {e‘ﬁ g_tk

% Lo&fn_s
_ f c €41‘ -t
( +CL€ / C/, CLGIR ar{jg







































































































































































































































































































































































































3’(’0):

dy-yel v
3& Vﬂ

ro 75
ov um/Zno
wh e

are’”
o bre ece =0
\/\C—









































































































































































































































































































































































1

d-3y+y=0
Ox

- |
=) = o
I artf=o. L
G UX. eyg |

~.t
4 (k1= e —b
61&) = fﬂ

.(.
t-:0+ﬁ)e
te

/(-Q): e -+

I


























































































































































































































































































































































































(7 / (—
. =2 %+ ¢ 51=€* (2tt) —2( l+t)++] <O































































































































































































































































































































































































































	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page



